Bt : B =

EXOViHE
(AWK YT HY) 2%z

CRDFHEELFIFLLD. ODTVWFREBRZYFEFL LI )

<EEZIR—2Z2>

© | kg = 2004 kgl . 9
@ 3kg 100g— 7004 kg 9
® 2kq 409 — 90 g k9. .. ¢
® 3kg— 150g kg 9

o o WTBTERYVAY



o ES@RANE BAiZb : B B
i izivare (15
“ - ’.(f:/uC‘< YFHY HY) z i i

CRDFHEELFIFLLD. ODTVWFREBRZYFEFL LI )

<EEZR—Z>

® | kg — 2004 R
N{0/0]0
800
@ 3kg|OOg— 700 ¢ kgl 9
3[TT0[O
= 2kq400¢ —| 7190
214,00
® 2kqg40g— 90 o, T
’ ? ? 2[0[4]0
:|ng50g — 9.0
119:50
® 3kg— 150 kg, . ¢
k ? 3/6/0|0
=2k%850g — 1150
218 50

© PIE EX %?@?@e@g@ﬂ@x



